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Answer any TWO FULL Questions from Part B, Part A compulsory.  MARKS [ CO IRBT
Part A [
Explain different types of piers and abutment with sketch wherever possible. 20] CO3 02
Part B T
Verify the adequacy of the dimensions for the pier, the following details are ~ [15] U)‘ L3 |

available,

Top width of the pier: 1.5m, Height of the pier up to springing level: 10m

c/c of bearing on either side: 1.00m, side batter: 1in12

high flood level: Im below the bearing level. Span of the bridge: - 16m

Loading on span : IRC class AA tracked Loading.

Road: two lane road with 1m wide footpath on either side.

Superstructure: Consists of three longitudinal girders of 1.4m depth with deck
slab of 200mm deep, rib width of girder= 300mm. material of the pier: concrete
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Verify th ility of ‘e . ,
belgl“?/: e stability of the abutment shown in fig. the other salient features are given [15] 03
(I;/Igterlal of abutment: concrete. Density of the soil: 19kN/m?>. Co-efficient of friction:
.6Angle of repose of the soil: $=30°. Live load on the bridge: IRC class AA (tracked)
20 kN
;&'ﬁﬁ;{:’,’_{ﬂ;

; ) 2 rDﬁ 1
Design a pipe culvert through a road embankment of height 6m. the width of the road is  [13]
7.5m and the formation level is 10m. the side slope of embankment is 1:1. The
maximum discharge is 5m?/s. the safe velocity of 3m/s. class AA tracked vehicle is to
be considered as live load. Assume bell mouthed entry. Given C.=1.5. Cs=0.010 and the

unit weight of soil = 18kN/m”,
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